Exponential response function of achromatic vision spact* gxpsx

nonlinear name and relationship with notes

color terms test field luminanceL

threshold . XUy, v Ll

sum TexpaxAs-10g (1+A2'1d<u ) X=0gk | p Ay i (1+aeeL)
T*Expax =A;-log (1+A;- 10°/10° ); L=10" for largeL it is valid:

=A, -log (1+A,-L); dL/dX=In(10). 10°

CIE luminance
contrast
sensitivity
threshold
L/dL

dT¥eypax [AL=A, - A,/ (1 + A-L)
=AL-Ag Ly (T+A- (L)

for dT*%ypax=1, and multiplication with_;
L/dL=A;-A,-L/(1+AL)

= Ag-Ay-(LIL) - [1 + Ay (LIL)]
The ratiolL / dL is constant for large

CIE luminance
difference
threshold dL

dL=(1+A-L)/(A-Ay)
S[1+A-(LLY] (Ap-ALY)

1<<A4.L

therefore:

L/dL=A1

= constant
=Weber-Fechnetaw

As=Ax/ Ly
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